March 8th 5-a-day Numeracy
Simplify Simplify
a+a+a ? 1' 4a + 2a 6 a/
R ————
What are the next two terms in this
sequence?
610 1418 2K
T —
A boy starts school at 9am. He How long is each lesson?
finishes at 3.25pm. There is a 15
minute break and a 50 minute ‘K‘O 3 ‘6
lunch. 360425 38.5
There are 8 lessons in the day, 3¢5 -50 - 6" =73 zd"'n"
—_— - ’
each the same length. Y320 - 3,400““1:
Connor bought a computer. LY X 1L - 1? 7
He paid a deposit of £120 and
made 24 monthly payments of £12. Z?y
4+ 120
How much was the total cost? ?
There are three colours on a Colour Red Blug White
spinner. Probebility . 01 (.49 025
Find the missing probability 0./ [-0-3 .
+0-25
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5-a-day

Foundation

The weight of a bag of potatoes is
5kg to the nearest kilogram.

What is the smallest possible
weight of the bag?
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Calculate the volume of this cylinder . 7?5 ) qc/‘"
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Find the size of angle D
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March 8th 5-a-day Higher

x
Square (x + 10) (X-H ?
(¥+1) X+10)
2 k0 410xtlo0
A0 +100
Find x 5 ﬁ)
sx + + M0+ = 70 . I b3k
b+ 'ql’-')(O A
bt =90
A=3v ¢
Solve ﬁ_,,_lq—g
2t+1 5-t —):L——
+ =3
2 4 ST 4143
g1+ ’1”37‘-3 911217'
12 [ + 773
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Solve 10 fing th l@m/of each side XW
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